3 < VI<4E THESE A% 1 9] A%
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@ 9 ® 10

2} SHH 9 < x < 16
Ay BESelR= A =
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10, 11, 12, 13, 14, 15, 16 & 7 7}°]c}.




O V2 @ -05
@ 2+ V2 ® 1+ V2

B

o, = AA=
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V2
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Tlo
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@2+ V2=34xx%x---
@1+ V2=24%xX---
N OPIORSORIORND)

D V2=14%xx"--
@ -0.5
@®D1-V2=1-14%xx-=-04xXX%X--




S M AL a=3vV2-2,b=2V3-2,c =22 f45 H|wstoia}.

> HE: b<c<a

a=VI18-2,b=V12-2,¢c=2
a-c=V18-2-2= VI8-4= V18- V16> 0
a>c
c-b=2-(V12-2)=4-V12>0
c>b




O V2 @ -05 ©

@ 2+ V2 ® 1+ V2

B

VA2 = V196 < V2 < V225 = /(1.5)
14<V2<15=>V2=14x%xx%---

DV2=14%xx---
@ -0.5
@®1-V2=1-14XX-=-04XX--

@2+ V2=34xx---
®14+V2=24xx---
T D<B®<0O<B®<®




a=2V5, b="3, c=ab A u, Th&& Fajelet
H7|
Vila+b) _abe
2 2
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85
xcke 99
DOI:I 2

a =245, b:%g:«/a c=2V5x%x V5 =10
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237} 32 Vorem? olnE Wyolt S2YOT

utebd W o] W2 50] ol & r o]l SHH 2n = 8 0| B R
r=2v2(em) ©Jt}.




Ru)7} 36 V6 2 2 A o Wrie] hmet Az e] Aol7t 27t 33
LAV5 2 o, HgrA ] ol & Fatofet

» = 3
> g VI

2| 2] ol & x 2t 5hH
36 V6 =3V2x4V5x x
36 V6 = 12 V10 x x
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9. O<a<1d, tadid BAZ &2 A27

®a2>\/c_1 @a>l @\/E>L
a Va

1 1 1 1

@%>a—2 @Z>%

0<a<l — a%%a}_ﬂ%—_’f’_%ﬂ-
1 1

®Z>7§(X)

®%>2(><)
1 2

®7§>7§(X)

®V2 >4 (x)




10.

[e]
O<a<1¥d, o35 3 7P & w27




11. ZAs x of disto]
f(x) = (vxolste] 2k F 71 & ) 2kl & off, £(90) — £(40)
o] Zr2? (&, x & Aot
D1 @ 2 @3 @ 4 ® 5

B

81 <90 < 100 °]EZ 9 < 90 < 10

- f(90) =9
36 < 40 < 49 ©]E2 6 < V40 < 49
- f(40) = 6

- f(90) - f(40) =9 -6 =3




12. V3n ©] 2 94 Apo] 9] L7} B A k= A4 n O] A= 2 AI7E?

@ 174 @ 27 ® 371 @47H ® 571

2<V3n<4
4<3n<16
on=2 34,5




V3=a, V30 =02, V300 o] &= x, V0.3 9 2y L
x 2ty £ abE °l-§5te] YERH?

b
— 100a, y = 10b —10a,y= —
D x a,y (@)x a,y 12
a
® x 00b , y %80 @ x Oa,y 100

= 10ab ,y = —
® x ab,y=-

rok

B

V300 = V3 x 100 = 10 V3 = 10a
S.ox = 10a
30 V30 b

VO3 = V100~ 10 ~ 10




14. x=V3,y= V7 & o, Vi3 2 x ¢}y 2 Yepffolt.

>
> Heh /2x2 +y2

13=3+3+7= V32 + V3% + V72 = 2x% +)?
kA V13 = \/2x% +y? Ot




15. the AZZES olgate] V200 o ZHe A

T 0 1 2 3 4

3.0 | 1.732 | 1,735 | 1.738 | 1,741 | 1,744
4.0 12.000]2.002|2.005|2.007| 2.010
5.0 12,230|2,238 | 2,241 | 2,243 | 2,245

D 44.72 @ 34.64 ® 34.70 @ 34.76 @44.76

~&B

V2004 = V4 x501= 2 V501
= 2 x V5.01 x 100
=20v5.01

Folx A 5.01 = 2.238

520 X 2.238 = 44.76




16, thgel wi AFTEY diolh o BE olgstel VB~
2 V3
o] & FotH?
- 0 1 2
1 1,000 | 1,005 | 1.010
2 1,414 | 1,418 | 1.421
3 1,732 1,735 1.738
4 2 2.002 | 2.005
5 2.236 | 2.238 | 2.241
6 2.449 | 2.452 | 2.454
7 2.646 | 2,648 2.650
8 2.828 | 2.830 2.832
@® 1414 @ -1.732 ® 1.732
@—2.449 ® 2.449
%—S—g:—%:—«/ﬁ:—z@g




